, 7 3
, 7 3 ,
, 144° 29_5km , 33° 24' 29"
134° 36' 46" ( 1)
, 8m, 12m( om) C 2 ,

34°

* BEFETHRSITENS
144°29.5km
N 33°24' 29"
£134°36" 46"

E134° 3 135° Y

1 )



g(
==
| BRREPATRMA|
& ] @
#8m ,l:
2
), E (
(
1) (1980 1995 )
2)
3) G )
49 C)
5)
6)
D
3
1986
1983 321  ,1987 813

300

,1991

1980

,1995 100

1,017

(¢

3

1982

700



B (1)

1995 81
40
10

86
1995 81

1992 1995

,1995

,1991
1980

,1980 89

1982 113
10

1995

1,017
3
1993
4

,1995

4 6 , 2 3



2)

3)

6 1995 4

) 23

1992

1992 ,1995

,1995

1992

4

,1992

6

22

1995

1995
7-1 4

5-1 2

1992

,1995

6-1

1992 4
,1995 4 19
1995

(MF21-4

1
13 )
1995
) 1992 4 5
,1995
1992 4
18

23 ,0 21

6-1 2

,1992 4 6

7-1

,1995



1992 4 6 1995 4 6



R

R

REEQ

RAEE()

35 r - 120
-—HUAt ——Huazda
30 -y —a— AT 100

—X=EpH  ——AT

YASRER®

234557891011125
19924F kR

——hUH ——Hovin
25 =N —aARF
X=EoFH AT

19935 Rk R
35 ¢
30 F
25} -—hvt  —e—so%Jno

=Y A ARF
X—EVFH AT

1 2 3 4 5 [} 7 8 9 16 11 12 4
19945F R 2

35 r

30 ¢

25 | -—-hvt —e-5030
XN e ARF

20 F =t 45

1 ‘2 3 4 5 6 7 8 9 10 11 12 8
19955 25 R

REEATA)

RESETR)

BRSG(TA)

AEXECFM

20000
18000
16000
14000
12000
10000

20000
18000
16000
14000
12000

20000
18000
16000

——huA ——snvJno
~W-FNT e ARF
=Bt ——iqF

1254567891011!25
1992 B EHE

I ——hvE —eoovUn
. —— N —aAINF
- —x=ELtH 15

1234;567891011125
19934E RS

[ ——huE

1 2 3 4 5 6 71 8 9 10 11 12R
19944F R

1 2 3 4 5 6 7 8 9 10 11 12p8
19955 M &



7k

b

7k

¥

1 (1995 )
9 exs | wav
WRBR| AEZEEN»S | 5A 3805 [BiE BE
DKM | AAFHET | SH 3HET (h9180EEILY) (h74808801%)
HERBE nkg-8 14 - BE3 [/
34 (hyiB28K0L ) (hytRogdaty)
MAR | 2766ke kg 367kE ‘
#ESE 244 935 [ 137AH
4Fi, Sﬁlsﬁ : 78 , 8H , 98 , 0B MA 12 | 1A 2R 3R
1 | 1 1 LI i | 1
\\\\\/ \ AN '\\27/ e AN NETN | :n ]
10
% RN = 7 / /// [
\__21
. \\\ \/ ]
0 \ A \\ //// / /
\/is 1" .
13
1 '
200 \ AN / /\ /\ N\
5-1 1992 ( st.9)
4ﬁ,5516)5]‘7)5]"_85195110%‘11%112}5![IFJIZFI 38 |
T 1 I | I ]
10 \\\ / \ = ///
30
100 \/// °1
zo
%j
8
7
%‘
5
/\ 4\ /
13\
200 PN /\
5-1 1992 ( st.9)



62/90

s2/90 |
w/r
e/%0 |

S1/90

11/%0
80/90 |
10/90 |

82/50

sy/s0 |
12/50 [
81/s0 |
v1/50 |
/s

10/50

vo/s0

12/%0
£/
0z/¥0
9t/v0

DLVLLN

60/v0
90/v0
20/%0

r—

—— 238
~o—EF
—— 8

6-1 1992

140 +
160 -
180 -

§2/90

92/90 |
/%0 r
61/90
s1/9%0
/e r
90/90
§0/90
10790 |
62/50 |
se/s0
/s r
81/50 [
s1/s0 |
1/so

90/50
v0/s0

n/m

v2/v0

0z/vo |
nmoe r

£1/v0
ol/vo
90/v0
£0/%0

‘A8

L

T

—-—AVARER
(TEBETY)

6-2 1995

3000

1/8
§2
61
£l

/v

7-1 1992

&

1eBBTE)

]
-
#
*
D
R
t

3000
2500

2000

(3%) WmER:

1500
1000
500 |

~ AR

121
8l
l
9/9
144
52
61
11}

1/8
LT3
61
£l

¥4

¢

6

4

7-2 1995



6000 |
L -4 SRR
—— TRBHTS)
= 4000
= 3000
** 2000
1000
0 J ' 1
grmzegro285gY e 2R
7-3 1992 @
180
160 |
140 |- -4 ShER
<120 } TEBITY)




